2514[8] RICOH CUP

H #:¥mM28F9A22H (K)
& 15 FILRSHEE BB (7:30)

(—B 8]

HAFM : 59%x4Q HT 3%

{EB% : 20164£9H19H

No 5] Ad-hk (R f) BI-—-b (& M)
EFAIN—T EFAIN—T
8:30 - = Vs 2 B A X Vs E K
1
Jzyyar- Ak % [E Bl 72 g— (M ) TR AE (F 4L) =i =8 (B E)
ToO ZIELF FIABTF
idhy VA 35 (2 #L) SHEA [E #] sls S ([ 4L) T A
TFAIN—T TFAIN-T
9:20 £ 1 vs E 5 g8 vs R W
2
Syyar— EH XX (8 8] R #HF [(E #] fEzx i (ED5F) 7w —fE ([ )
TO —=57F EMETF
= ¥ AR B [— =] ZIELF P2 12— ([ FEE) AXSBF
BFAIN—T BFAIN—T
10:10 - = Vs £ 4 = =] Vs E K
3
Jzyyar- e Fx (i Bl A EA [E #] VA 3 ([ #L) 72 ig— (M )
TO BBLF AKXSBF
B3 Al R [E Bl NI #= ([E9F] 78— (A FE) B —k% B Bl
TFAIN—T TFAIN-T
11:00 s|E v %R EE v EH
4
Syyar— IV S (B #L) AR Bt [— =) EH XX (8 8] sls = [ 4L)
TO LT EMETF
= 3 FHAE £ 4] Ba X (i 5] fEz i (ED5F) P2 12— (M EE]
BFAIN—T BFAIN—T
11:50 Z 1 Vs a2 B X X Vs - =
5
Jzyyar- Ak % [E Bl N #Z ([B9F] BH —% [E Bl ZIELF
o ZIELF BBLF
idhy 78— (A Fz) KT HFF (E M) EHIEA [ #] Bh 5F [ #)
TFAIN—T TFAIN—T
12:40 EH v BB 2L 9w @B
6
Jzyyar- FHAE (£ 1] T &E [— =] fEzx i (ED5F) R #HF [(E #]
ToO BEETF —=25F
= ¥ SHRX (B Bl N2 s&_ ([ED5F) B —k [E 8] T pREREA
BFAIN—T BFAIN—T
13:30 £ %L Vs A X - 5 3 Vs - =
7
Jzyyar- SHEX (8 B ZIEZF Ak % [E Bl Bi =M (B §)
TO BT BELF
idhy fEZR it (B 5F) PAGINSER G0 VA 35 (2 #L) ZIELZ T
TFAIN—T TFAIN—T
14120 2B v &2 EE v @®e
8
Syyar— Tl FE (— =) N &_ ([EDF) fEzx i (ED5F) BER B (- =)
ToO FILBF BEST
= 3 AR B [— =] =i & (R M) isls S [ 4L K T (E Ml
BFAIN—T BFAIN—T
15:10 X W vs Z 1 g2 vs X X
9
Jzyyar- AR Bl [— =] e #ik (in Bl VA 3 ([ #L) EHIEA [E #]
ToO 2T EMT
idhy B3R it (E55F) =SNG 78— (A Fz) F2h ig— (M FE)
TFAIN—T TFAIN—T
16:00 SE v EB BEH s £ 1
10
Syyar— sls S (& 4L i =8 (8 B) 7 —Z (M EE) BER B (= =)
ToO BRLF AXEF
= ¥ FHAE £ 4] B 5eF [ #4] TE prEREA AXSBF

BRHIZNRTY MR-)VER




